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Dear Parents and Students,

At the outset, we extend our heartfelt appreciation for the un
commitment, positivity and enthusiasm you have brought to the start o
year. o
Summer is not just a break, it’s a reminder to reconnect with your passions, try a new skill,
and spend meaningful moments with your family. Relax, recharge, but manage your time
wisely. Stay energized, stay hydrated, and make each day purposeful. Don’t let
procrastination steal your spark! “A stitch in time saves nine” take the time now to plan
and organize your summer learning. Small efforts early can save you a lot of time later!

At The Royal College, we believe that learning is a journey without a pause. This year’s
Holiday Homework has been thoughtfully designed to blend academics with creativity,
ensuring you remain engaged while enjoying the freedom of summer.

Dear students, this is that time of the year to dive into new realms of t
imagination, and create memorable moments. Let your curiosi
embark on the adventure of reading captivating books,.exploring the world through current
affairs, and giving life to your ideas through writing. Push the boundaries of your creativity
and ask questions that lead to uncharted discoveries. Watch how growth quietly blooms,
when you experiment, explore and evolve.

As the FIFA Club World Cup 2025 draws near, let the spirit of sportsmanship inspire you.
Step outdoors, stay fit, and cultivate healthy habits instead of drifting into endless scree
time or unhealthy routines. Let the musician in you strum a melody, the artist in
colourful canvas to life, and the reader in you devour wonderful
endless!

Your teachers have crated meaningful and engaging
opportunities to think critically, imagine freel
worksheets and project guidelines are avai
your projects with originality and enthusia

May your summer break be refreshing and unforgettable.
return, filled with new experiences, fresh skills, and smiles as radiant as
sun!

HAPPY HOLIDAYS!



Read the chapters from NCERT book and competition notes and
.uererstand the concept and solve the given questions based on
it in a separate register. Practice the same chapters from
Arihant Competitive book set.

PHYSICS
CHAPTER 1 ELECTRIC CHARGES AND FIELDS

ic dipole- Give an example. |

i ideal electr
GY (i) Define an idea :
;-—> o e an expression for the torque experienced

electric dipol® ina unifqrm'electnc field.
force acting O this dipole- A
¢ of length 2 cm is placed with its
ngle of 60° with respect to
field of 10°N/C-
que of 83 Nm, calculate the

(i1) DeriV!

by an

What is net

(ii1) An electric dipol

¢ axis making an a
uniform electric

o) (i) Derive the expression for electric fi i
= ield at a point K . t .
> on the equatorial line of an electric dipole. A If it e).(pineﬂ: SlSJ:rg(&)’-ron the dipole, and its 5
(i1) Depict the orientation of the dipole in (a) stable, magmful Z:er y CBSE SQP 2020-21
(b) unstable equilibrium in a uniform electric poleHtis 2 . eeld
field i i ession for the electric field at any
ield. Delhi2017 @ F (i) Derive an expr o teon oot ante
Q9:> (i) Obtain the expression for the torque T experienced potls .on thﬁ i % harges g each are kept 2 m
by an electric dipole of dipole moment p in a (i1) Two 1den.t1cal po.mt charg 4 0 Puni il
uniformiclectle Aot apart in air. A third Pomlt " 3 c%n the line joining
i g : i e
(i1) What will happen, if th niform? magnitude and sign 1S plac ne )¢
ppen, if the field were non u;ﬁ:;’%w the charges such that the gystem r:matn‘?s me
1 {librium. Find the position and na re of .
Qé} A thin circular ring of radius 7 is charged uniformly so e Delhi 2019
the electric field E due to

that its linear charge density becomes . Derive an gL ot
i) Derive an expre .
@,@ o p distant  from the

expression for th : * :
pression for the electric field at a point Pata Dol e 2lat pornt dis
dipole on the axial line.

distance x from its centre along the axis of the ring. S githe
Hence, prove that at large distances (x >> r), the ring A o i poraet)
behaves as a point charge. Delhi 2016 (ii) Draw a graph of E versus ¥ oF L. ) ;
& . ; : (iii) If this dipole is kept in a uniform external electric field
8"9 An electric dipole of dipole moment p is placed in a E,, diagrammatically represent the position of the
uniform electric field E. Obtain the expression for the dipole in stable and unstable equilibrium and write
forquc® e).cperlenced by the dipole. Identify two pairs the expressions for the torque acting on the dipole
of perpendicular vectors in the expression. Delhi 2015C in both the cases Al India 2017
Q§> Two point charges +¢ and —2¢ A Qg} (i) Define torque acting on a dipole of dipole moment
are placed at the vertices B and C p placed in a uniform electric field E. Express it in
of an equilateral AABC of side a a a the vector form and point out the direction along
as given in the figure. Obtain the which it acts.
expression for tq -2q (ii) What happens if the field is non-uniform?
(i) the magnitude and B a © (iii) What would happen if the external field E is
(ii) the direction of the resultant increasing (a) parallel to p and (b) anti-parallel
to p? Foreign 2016

electric field at the vertex A due to these two
charges. All India 2014C



A hollow conducting sphe

7 has a charge ¢
a ‘°> gl‘:::‘;;af ln;?s 2alsodplac.:ed at the centre of th

Wh s the surface charge
SR anda(:); outer surface of the sphere? i )
'(n) Use Gauss’s law of electrostatics to ol

expression for the electric field at a p(:::'d'm' [
outside the sphere.

-

; w O.

: ity A- Obtaln

harge density 2. Ob .
) fhe electric field £ at a point
ﬁ‘om the wire by using G

: tion of this
ii how grap]:u ally the varia ‘
o is’iefd E as a functlon of dxsta.nce x fro

A point charge + Q is placed at the centre Q-o'

% ductor of
h ed hollow sphencal con
Q"' 7 dalc-)guter radius b. Fmd the followmg

, Tvvo large charged plane sheets of cha.rge"’ !
'3} and —2cC m? are arranged vertically with :
_separation of d between them. Deduce expres ions
‘the electric field at poxnts (i) to the left of th '

sheet (ii) to the right of the second sheet and
between the two sheets. ‘ Al

|

Figk A sphencgl conductlng shell of inner radlus r,'
'31‘i@! ‘f)outer radius 7, has a charge Q. %
bt () A charge g is placed at the centre of the she

Find out ‘the surface charge density on th‘q'? i

and outer surfaces of the shell.
i Q.x) Is the electric field inside a cavity (with n
charge) zero 1ndependent of the fact whethe
shell is sphencal or not? Explaxn. : -




ACE |

195 —
+ 20, -

heet of

ge density +0. CBSE SQP 2020-21
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CHAPTER 2 ELCTRIC POTENTIAL AND CAPACITANCE

place
 expression for the
o place a third char; ‘d'out the a
the line 1,0,)»:1“&"‘,‘”}-1ﬂ\",’(ﬂ) AN TS

1 A e gt et
1 charge + O, ‘a‘;‘mar\.!h;u




(i1) energy stored in 3WF capacitor
' (1ii) total energy drawn from the battery

Fmd. the ratio of the potential differences that must be
applie  across the parallel and series combination of
two capacitors C, and C, with their capacitances in the
%2 50 that the energy stored in these two cases
the same. All India 2016

Foreign 2016

If two simil_ag' large plates each of area 4 having surface
charge densities +6 and — are Separated by a distance d
in air, then find the expression for
@) ﬁ_eld at points between the two plates and on outer
§1de of the plates. Specify the direction of the field
in each case.
(ii) the potential difference between the plates.
(iii) the capacitance of the capacitor so formed.
All India 2016
Calculgte the potential difference and the energy
stored in the capacitor C, in the circuit shown in the
figure. Given potential at 4 is 90 V, C; =20F,
Cz =30 ,J.Fand C3 =15pF.

Delhi 2015

) Explain using suitable diagrams, the difference in the
behaviour of a

(i) conductor and
(i1) dielectric in the presence of external electric field.

Define the terms polarisation of a dielectric and
write its relation with susceptibility. Al India 2015

'?Two capacitors of unknown capacitances C; and C, are
connected first in series and then in parallel across a
battery of 100 V. If the energy stored in the two
combinations is 0.045J and 0.25 J respectively, then
determine the value of C; and C,. Also, calculate the

charge on each capacitor in parallel combination.
All India 2015

ys> (i) Obtain the expression for the energy stored per

/ unit volume in a charged parallel plate capacitor.

(ii) The electric field inside a parallel plate capacitor is
E. Find the amount of work done in moving a charge
g over a closed rectangular loop. Delhi 2014

(i) Derive the expression for the capacitance of a
parallel plate capacitor having plate area 4 and
plate separation d.

(ii) Two charged spherical conductors of radii R, and
'R, when connected by a conducting plate

- respectively. Find the ratio of their surface charge
densities in terms of their radii. Delhi 2014

16

9;(?‘" a parallel plate capacitor with air between the plates
each plate has an area of 6 x 10> m? and the
separation between the plate is 3 mm.
(i) Calculate the capacitance of the capacitor.
(ii) If this capacitor is connected to 100 V supply,
what would be the charge on each plate?
(iii) How would charge on the plates be affected if a
3 mm thick mica sheet of K =6 is inserted
between the plates while the same voltage supply
remains connected? Foreign 2014

Q\g) A capacitor of unknown capacitance is connected
~ across a battery of ¥ volt. The charge stored in it is
360uC . When potential across the capacitor is
reduced by 120 V, the charge stored in it becomes
120 uC. '
Calculate
(i) the potential ¥ and the unknown capacitance C.

(ii) the charge stored in the capacitor if the voltage
applied had increased by 120 V. Delhi 2013

(] _9) A capacitor of 200 pF is charged by a 300 V battery.
The battery is then disconnected and the charged
capacitor is connected to another uncharged capacitor
of 100 pF. Calculate the difference between the final
energy stored in the combined system and the initial
energy stored in the single capacitor. Foreign 2012

Q,‘) A network of four capacitors each of 12t capacitance
if connected to a 500V supply as shown in the figure.

Co
Cy -'[- -11- Cg
1L
LU
Cq
500V

Determine

(i) the equivalent capacitance of the network and
(ii) the charge on each capacitor. All India 2010

f T
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CHAPTER 3 CURRENT ELECTRICITY




E ‘i‘—sbl:t_ery i; of :31:; 8V and internal resistance
Ohm ing charg DC
g a resistor of 15.5 ohn-{ SUBPLYOLEL0 Y

Draw the circuit diagram,

C\ I‘ate the potential difference across the battery.
Vhat is d_ae purpose of having series resistance in
his circuit? CBSE SQP 2020-21
g Kirchhoff’s rules calculate the current through

D Q and 20 Q resistors in the following circuit.
Delhi 2019

80V
A —— A
40 Q
D AAMAAAA C
E—.:Il_——w— F
40V 0Q

cells of emfs €, and €, and internal resistances

¢ mdvely are connected in parallel. Obtain
essions for the equivalent

resistance and

of the combination CBSE 2018C

£ Kirchhoff’s rules calculate the potential

#ZV@Q) B
|
- ;;1V
(1Q)
if c
3V((BQ) CBSE 2018C

Il of emf E and internal resistance  is connected
ss a variable load resistor R. Draw the plots of the
inal voltage V versus (i) resistance R and

found that when R =4 Q the current is 1 A and
n R is increased to 9 Q the current reduces to 0.5
ind the values of the emf E and internal

tance r.

g Kirchhoff’s rules, determine the value of
nown resistance R in the circuit, so that no current

All India 2015

flows through 4 € resistance. Also, find the potential

difference between points 4 and D, Delhi 2012
E A 40
:’ ‘ n
193 R
I T 6V
A -L—': B :', C
9V 3V

Q\ 2\7Calculate the value of the resistance R in the circuit
shown in the figure, so that the current in the circuit is
0.2A. What would be the potential difference between

-—

points 4 and B ? All India 2012
6V 5Q
I 02A B c
10Q P
1503 5Q
2 vT [
D
02A

Q\ é}State Kirchhoff’s rules. Use these rules to write the
expressions for the currents I, /, and /5 in the circuit
diagram shown in figure below. All India 2010

I1 E1=2V f1=4ﬂ

i Ex=1V
I Ea=4V
Q"“)State Kirchhoff’s rules. Apply these rules to the loops
PRSP and PRQP to write the expressions for the
currents /,, I, and I; in given circuit.  All India 2010
. 200 Q2 I
S R
Iy
5V 20Q 60 Q
L (milliammeter)

|
1

4V

+
—

Iy
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Q S_} Two very small identical circular loops (1) and (2)
carrying equal current / are placed vertically (with
respect to the plane of the paper) with their geometrical
axes perpendicular to each other as shown in the
figure. Find the magnitude and direction of the net
magnetic field produced at the point O. Delhi 2014

>

S
@

4\ State Biot-Savart’s law expressing it in the vector

~! form. Use it to obtain the expression for the magnetic
field at an axial point distance d from the centre of a
circular coil of radius a carrying current /. Also, find
the ratio of the magnitudes of the magnetic field of
this coil at the centre and at an axial point for which

d= a«/§ ; Delhi 2013C
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S |'0) (i) State Ampere’s circuital law. (ii) Draw the magnetic field lines due o08 CHERES
S N : g : ing loop.
(i1) Use it to derive an expression for magnetic field carryu'lg 2 : f12 A is bent
inside along the axis of an air cored solenoid. (iii) A straight s ﬁ?;rryalzzgoaf(r::gi:tfo cm as shown in
(ii1) Sketch the magnetic field lines for a finite $toﬁa Se:u;;l;:t is the magnetic field Bat O due to
solenoid. How are these field lines different LA z -

from the electric field lines from an electric (a) straight 'segments i
dipole? ' PR Foreign 2010 (b) the semi-circular grc?
& 11Y}. (i) Using Biot-Savart’s law, deduce an expression (el : :
for the magnetic field on the axis of a circular =
current carrying loop. > T 1) Foreign 2010

between two parallel c‘mn:e:ms of the force

(ii) Two long straight parallel cOnda::cytmg conductors.
steady currents 7, and 7, along th OFS Carrying
directions are separated b £ the same

If a third conductor carrying a o 1
opposite direction is placed just m:‘;Ic_

these _conductors, find the resul S mxddlf: of
the third conductor. o an rce acting on

1 traight et CBSE 2018C

Two long stra parallel conduct

l3)c"rrents 7, and 7, are separated by a diStancit?ClI)t,‘
currents are flowing in the same b e S the

- direction, sho
the magnetic field set-up in one p Iucé:, aw 1-::;::6

force on the other. Obtain the expression f« i
Hence. define one ampere. = SSion fox this force.

- Delhi 2016
A wire A4F8 is carrying a stea current : 3

lj) lyving on the table. Another v?i)’re <D car‘:i}j; Sa:?sls
held directly above 48 at a height of 1 mm. Find the
mass per unit length of the wire C). so that it remains
suspended at its position when left free. Give the
direction of the current flowing in C/ with respect to
that in A8 . [Take. the valuceof g2 =10ms -1 an india 2013

'9 A rectangular loop of wire of size 2S5 cm >< 4 cm carries
steady current of 1 A A straight wire carrying 2 A
current is kept near the loop as shown. If the loop and
the wire are co-planar. find the (i) torque acting on the
loop and (ii) the magnitude and direction of the force
on the loop due to the current carrying wire.
, G =t Sl it Leee =00 fDM2012
b r=2As e e

1A

T e TS? ST it

1"th Yot L P e =D . A ‘
a(& Depict the magxxeticﬁeld line§_di.i¢: to two straight,

; ats 7, and 7, in
long. parallel conductors carrying curren Tk
the same direction. Hence, d.eduzi t;;l :’xcﬁ_rf;szion for
the force per unit length acting ©Oft oft T o
conductors due to the other. Is this. force attg‘gcti“r s
repulsive? : =3 Delh

se nyele pres ES U S g Of A TNOVIng
Ql_“_*} State the underlying pxznnclple of w‘:::dv?fy o
coil galvanometer. Write two reason v b
galvanometer cannot be uz;gd 2.
current in a given circuit. ! arm B e
which the current sensitivity of a galvanc
depends.
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R | ur

_) Sketch the graphs showing variation of swppmg 2
potential with frequency of incident radiations f:
photosens1t1ve materials Aand B havmg thres ’
frequenciesV 4 >Vp-.

(i) In which case, is the stoppmg potentlal
why? i

(11) Does the slope of the graph depend on
 the matenal 1sed? Explain, | T 6 ol

Deﬁne the term “cut-off frequency” in phq ;
emission. The threshold frequency ofa me'
the hght of frequency 2f is incident on the
‘the maximum velocity of photoelectron lS
frequency of the incident radiation is mc;;e
the maximum velocuy of ,photoelectrons_ 1s Vs

ratlo Vl_ VZ

ajsf,

¥

effect. which cannot be ~expl»amed on the b [ wave
theory of light, but can be explamed only 1’1‘ |
Emstem s equatlon | it

!} (i) Write the important propertles of ph e
~used to establish Einstein’s photoelectr@i
(i) Use this equation to explain. the concept of

(a) threshold frequency and ramqi

(b) stopping potential. i W

QQ) (i) Describe briefly three experimentalli
features in the phenomenon of phottge %

(11) Discuss briefly how wave theory ofh ,

explain these features.



quation and mention 7
be explained with the help of this equation

The maximum kinetic ener
gy of the photoel
getfhdoublfed when the wavelength of lighte i;f:ﬁloenst
on the surface changes from A to A ,. Derive th 3
expressions for the threshold waveleimgth A :
work function for the metal surface s
: Delhi 2015, All India 2014

§ 1\‘) A beam of .n.lonochromatic radiation is incident on a
photo_sensn}ve surface. Answer the followin
questions giving reasons. ; 5

(1) Do the emitted photoelectrons have the same
kinetic energy? .
(i1) Does the kinetic energy of the emitted electrons
depend on the intensity of incident radiation?
(ii1)) On what factors does the number of emitted
photoelectrons depend? j - Foreign 2015

N |

6

Q| Write Einstein’s photoelectric equation and point

* — out any two characteristic properties of photons on
which this equation is based. Briefly explain three
observed features which can be explained by this
equation. : All India 2013

©13) (i) Why photoelectric effect cannot be explained
F — on the basis of wave nature of light? Give
~ reasons. =z | h
(ii) Write the basic features of photon picture of
electromagnetic radiation on which Einstein’s
photoelectric equation is based. - Delhi 2013

{4\, Draw a graph between the frequency of incident

—" radiation (v) and the maximum kinetic energy of the
electrons emitted from the surface of a ‘
photosensitive material. State olea_lrlyhow thlS graph

can be used to determine
(i) Planck’s constant and i
(ii) work function of the matengl ¥

’ lS)Write Einstein’s photoelectrice;;q.pa“tiqn.rStatg
~ clearly how this equation is obtfuned using thve:, i
photon picture of electrom gncan‘_@atlon- rite
the three salient features observed in photoelectric

; , . od using this equation.
effect which can be °’$Pla‘n°‘,‘, ASEHET | 7 Daihi 2012

W 40! | .
R At L B abL Bt L VU

. Foreign 2012



N 6} (i) Figure shows the variation of photoelectric current
.- measured in a photocell circuit as a function of the
potential difference between the plates of the
photocell when light beams 4, B, C and D of
different wavelengths are incident on the
photocell. Examine the given figure and answer the
following questions. |

N

—

[=
o
5
(©] Fi
=
e
o
_—

1o|O|®|>

A/ i
5 0 +
' | Potential difference

(a) Which light beam has the highest frequency and
why?

(b) Which light beam has the longest wavelength and
why?

(c) Which light beam ejects photoelectrons with
maximum momentum and why?

Or

(ii) What is the effect on threshold frequency and
stopping potential on increasing the frequency of

incident beam of light? Justify your answer,
CBSE 202!
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3\ (i) Explain de-Broglie argument to propose his

: hy;}bi:hesis. Show that de-Broglie wavelength of

photon equals electromagnetic radiation.

(i) If deutrons and alpha particle are accelerated
through same potential, find the ratio of the

%Yy é"‘-f’ ,k.,‘ - g i . |
ot B qfsocggted de-Broglie wavelengths of two.
sild DI BRERYS TS T CBSE SQP 2020-21

TR el s RN SRR

Q\Bl An electron is accelerated from rest through a

potential difference of 100V. Find

' (i) the wavelength associated with
(i1) the momentum of and
 (iii) the velocity required by the electron.  Delhi 2011
S) ‘3> (i) Determine the de-Broglie'Wavelength of a proton
, whose kinetic energy is equal to the rest mass
energy of an electron. Mass of a proton 1836 times

| that of electron.
(i) In which region of electromagnetic spectrum does
this wavelength lie? All India 2011C

SQB} (i) A particle is moving three times as fast as an
electron. The ratio of the de-Broglie wavelength of

the particle to that of the electron is1 ®13 %10,
Calculate the particle's mass and identify the
particle. |

(ii) An electron and a proton have the same kinetic
energy. Which of the two will have larger

de-Broglie wavelength? Give reason.
All India 2011C



CHEMISTRY

CHAPTER 1 SOLUTION

—— —”'""'/’/ ose present in a litre of iy
- 30 g of 8lu° of 4.98 bar. I
g8 At 300 K, n osmotic Pl"‘-‘s‘”'el 152 the
. 1 oarad to be17C: " solution has 2 ¢ of a glucose SOU 40N 18 2.02 bar o,

depression in freezing po‘inl is 0:,’3; 5 H 2COOH- osmotic pressugmture, what would be its

Calculate the degree of dissociatt & = the same temp All Indiq 2,

. . ~1.86 K Kg mol ')  CBSE 20 concen“auon?
(Given : K , for water = 1. = B rone (M =342 g o) i

14 ie associated into @
QLIf benzoic acid (M =1228 mol ) Isdm}::z;molic
dimer when dissolved in benzen¢ an tic Sdin
pressure of a solution of 6.1 8 ofobcnzo  t in e
100 mL benzene is 6.5 atm at 2? G; t:gn e 03
percentage association of benzoic aCII !
(Given : R =00821L atm K~ mol ™)
1-1) dissolved in 30
freezing point

tage association
CBSE 2023

2. 0.3 mL of acetic acid (M = 69 g mo
g of benzene shows a depression 1n
equal to 0.45°C. Calculate the percent
of acid if it forms a dimer in the solution.

=
(Given : K ; for benzene =5.12 K kg mol ')

©3 The freezing point of benzene decreases by _2.12 K :
when 2.5 g of benzoic acid C¢H;COOH is dlssqlved in
25 g of benzene. If benzoic acid forms a dimer in
benzene, calculate the van't Hoff factor and the
percentage association of benzoic acid.

(Given :K , for benzene =5.12K kg mol")
CBSE SQP 2021

Q4 . Calculate the freezing point of a solution containing 0.5
g KCI (Molar mass = 74.5 g/mol) dissolved in
100 g water, assuming KCl to be 92% ionised.

(Given : K ; of water = 1.86 K kg/mol)  CBSE SQP 2020

05.. A 0.01 m aqueous solution of AICI, freezes at
—0.068°C. Calculate the percentage of dissociation.

(Given : K , for water =186 K kg mol ") Delhi 2020

Q6. The freezing point of a solution containing 5g of
~ benzoic acid (M =122 g mol ') in 35g of benzene is
depressed by 2.94 K. What is the percentage of
association?
(Given:: K ; for benzene = 49K kg mol ') AN i 2070,

§3%. Give reasons for the following. CBSE SQP 2019
(1) When 2g of benzoic acid is dissolved in 25 g of
benzepe, the experimentally determined molar
mass is always greater than the trye value,
(ii) Mixture of ethanol and acetone sh iti
tur ows
deviation from Raoult’s law. e
(iii) The preservation of fruits b i
4 Yy adding conce
sugar solution protects then against bacteria] a!::ttlx:zt:d

om’c

§11.A 10%

g A 4% soluti
water has a IT&¥ 5
the freezing point =
in water. (Given -

-27315K) , ]
i int of an aqueous solutiop
Calculate tl';t:) f;‘;i’?%esium brt')midef in 200 g of
assum'. complete dissociation of magnesiyp
;vat;:i.de (M;;‘fr n:ssp of magnesium bfomnde =184,
ro . =
mol -1 K[ fo‘- water = 1.86 K kg mOI ) CBSE 20]3 ¢
mass) of sucrose in water has
15 K. Calculate the freezing
if freezing point of

; : 71.15 K. Calculate
ng point of 2 ‘
fees gfs% glucose (M = 180 g mol !y

reezing point of pure water
Delh; 2005

solution 8%9
freezing point 0 I
point of 10% glucose 1n water,
pure water is 273.15 K.

(Given : Molar mass of sucrose = 342 g mol ™ ! and

molar mass of glucose = 180 g mol™ %) Delhi 2017

< IDEA
First, calculate the value of molality (m) of sucrose, using

m=—_Wsolute X 1000
Mooise *Weonent
then, calculate the cryoscopic constant (K;) by using
depression in freezing point, AT, = K;m. Finally
calculate the AT; of glucose solution followed by
freezing point of glucose solution T, =273.15-AT,.

012 Calculate the boiling point of solution when 4 g of
MgSO, (M =120 g mol ™) dissolved in 100 g of water
assuming MgSO, undergoes complete ionisation.

(K} for water =0.52 K kg mol ) Al India 2016

813 Calculate the mass of NaCl (molar mass
=385 gmol™) to be dissolved in 37.2 g of water
;?alcorrer the freezing point by 2°C, assuming that
9 undergoes complete dissociation. (K , for water
=1. 6Kkgmol") f;o..agn 2015

Or- m :alss of NaCl must be dissolved in 65.0 g of
ower the freezing point of water by 7.50°C?

The freezin . A
is 1.86°C) m8. point depression constant (K /) for water









CHAPTER 2 ELECTROCHEMISTRY

Q4 (ii) With the help of a graph explain why it is not
possible to determine A, for a weak electrolyte
by extrapolating the molar conductivity (A ;) for
a weak electrolyte by extrapolating the molar
conductivity (A ,, ) versus C"2 curve as for strong

electrolyte. CBSE 2023

©2 (i) The molar conductivities of NH3 and C1" ion are

73.8S cm? mol ™' and 76.2 S cm”mol '
respectively. The conductivity of 0.1 M NH,Cl is
© 1.29x 1072 Scm ™ '. Calculate its molar
conductivity and degree of dissociation. CBSE 2023
(ii) Calculate the half-cell potential at 298 K for the
reaction Zn** +2¢~ —— Zn

if[Zn**]=01Mand E_

Zn**/Zn

==076V.

Q3 (i) Calculate the emf of the following cell at 25°C.
Zn(s)| Zn* (01 M) || H* (001 M)| H, (g) (1 bar),

Pt (s)
[Given: E; 5., ==076V,E, . =000V,
log10=1]

(i) State Kohlrausch law of independent migration of
ions. Why does the conductivity of a solution
decrease with dilution? CBSE 2023

Q4 (i) Molar conductivity of substance “A”is
59x10° S/m and “B” is 1x10™'® S/m. Which
of the two is most likely to be copper metal
and why?

(ii) What is the quantity of electricity in Coulombs
required to produce 4.8 g of Mg from molten
MgCl,? How much Ca will be produced if the
same amount of electricity was passed through
molten CaCl,?

(Atomic mass of Mg =24 u, atomic mass of
Ca=40u).

(iii) What is the standard free energy change for the
following reaction at room temperature? Is the
reaction spontaneous?

Sn(s) + 2Cu?* (ag)—> Sn** (ag)+ 2Cu* (s)
CBSE SQP 2023
Qs (i) State Kohlrausch law. CBSE SQP 2021
(ii) Calculate the emf of the following cell at 298 K:
Al(s)|AI%* (0.15M) || Cu®* (0.025 M|Cu(s)
(Given:EPw»m) =—166V, Eo((:u?’/(:u) =0.34V log
0.15 =-0.8239, log 0.025 —1.6020)

96 -(i) On the basis of E° values ideniify which

amongst the following is the strongest oxidising
agent? CBSE SQP 2021
Cl,y(g)+2¢” —>2CI"; E°=+1.36V
MnO; + 8H* +5¢”—> Mn?" + 4H,0;
o= 151V
Cr,0% + 14H* + 6 —2Cr’" + TH,0;
E°=+133V

(ii) The following figure 2, represents variation of

Ap ) Vs JC for an electrolyte.
Here, A, is the molar conductivity and C is the
concentration of the electrolyte.

150.0
148.8

149.4
149.0
148.6-
148.2-
147.8-
147.4-
147.04

An/(S cm mol™)

0 005 010 .015 .020 .025 .030 .035
C'%2/(mol/L)"2
(a) Define molar conductivity.
(b) Identify the nature of electrolyte on the basis
of the above plot. Justify your answer.
(c) Determine the value of A, for the electrolyte.

(d) Show how to calculate the value of 4 for the
electrolyte using the above graph.

03 . (i) Calculate the degree of dissociation of 0.0024 M

acetic acid if conductivity of this solution is

8.0x 10 Scm ™. CBSE SQP 2020

Given: 7»°H, =349.6 S cm? mol™';
O 2o ]

}‘cu3c00' =40.9 S cm “mol

(ii) Solutions of two electrolytes ‘4’ and ‘B’ are
diluted. The limiting molar conductivity of ‘B’
increases to a smaller extent, while that of ‘4’
increases to a much larger extent comparatively.
Which of the two is a strong electrolyte? Justify
your answer.

©8. (). Apply Kohlrausch law of independent migration

of ions, write the expression to determine the
limiting molar conductivity of calcium chloride.



1hi 2017
(i) Define fuel cell. Delhi

;Q; e i hode, we
To find out the mass of Ag deposited Qt Fat 0 e,d e
first need to find the quantity of electncut.y passe
using Faraday’s law. The value of Q helps in
determining the mass of 108 g of Ag.

Q9 What type of battery is lead storage battery? Write the
anode and cathode reactions, and the overall

cell reaction occurring in the operation .
of a lead storage battery. Delhi 2012, 2011, Foreign 2012

§10. An aqueous solution of copper sulphate, CuSO,

was electrolysed between platinum e}ectrodes
using a current of 0.1287 A for 50 min.

[Given: Atomic mass of Cu= 63.5 g mol ']
(i) Write the cathodic reaction.
(ii) Calculate
(a) Electric charge passed during electrolysis.
(b) Mass of copper deposited at the cathode.
[Given, 1 F=96500 C mol '] Al India 2011C

9 IDEA
(i) Cathode is the site of reduction.

(ii) Use Q =1t to find the amount of charge passed
andm=2Zit
_ Equivalent weight x /t
i 96500
to find the mass of copper deposited.

5 Marks Questions

611 (i) Why does the cell voltage of a mercury cell
remain constant during its lifetime? CBSE SQP 2023
(ii) Write the reaction occurring at anode and cathode
and the products of electrolysis of ag. KCI.
(iii) What is the PH of HCI solution when the
hydrogen gas electrode shows a potential of
~059V at standard temperature and pressure?

2. A lead storage battery is the most important type of
secondary cell.baving a lead anode and a grid of
lead packed With PbO, as cathode. A 38% solution of
sulphuric acid :s used as electrolyte, (Density :
= l.?94 g mI..' ). The battery holds 3.5 [ of the acid.
During the discharge of the battery, the density of
H,80, falls to 1.139 gL, (209 H,S0, by mass).

(i) Write the reaction taking place at th,
when the battery is in use, oy

815 @

B2

(ii) How much electricity i.n terms of Faraday is require
to carry out the reduction of one mole of PhO

(iii) What is the molarity of sulphuric acid before
discharge ?

(iv) Lead storage battery is considered as a secondary
cell. Why?

(v) Write the products of electrolysis when dilute
sulphuric acid is electrolysed using platinum
electrodes. CBSE SQP 2029

(E (i) The e.m.f. of the following cell at 298 K is 0.1745 v
Fe(s)| Fe?" (0.1 M)||H" (x M)|| H, (g)(1 bar)| Py(s)
Given, E; R __0'44 \%

Calculate the H" ions concentration of the solution
at the electrode where hydrogen is being produced.

(ii) Aqueous solution of copper sulphate and silver
nitrate are electrolysed by 1 A current for
10 minutes in separate electrolytic cells. Will the
mass of copper and silver deposited on the cathode
be same or different?
Explain your answer.

CBSE SQP 2020

O4. (i) A cellis prepared by dipping a zinc rod in 1M zinc
sulphate solution and a silver electrode in 1M
silver nitrate solution. The standard electrode
potential given:

Ean,,/Zn =-0.76 V, E;g*mg =+0.80V

What is the effect of increase in concentration of
Zn* onthe £, ?

(ii) Write the products of electrolysis of
aqueous solution of NaCl with platinum electrodes.

(iii) Calculate e.m.f. of the following cell at 298 K.

Ni(s)| Ni?* (0.01 M| Cu®* (0.1M)] Cu(s)
[Given, E° 2 = =—0.25V,E°0“2+ 1oy =+ 0.34V]

Write the overall cell reaction, CBSE SQP 2019

Write the cell reaction and calculate the emf of the
following cell at 298 K.

Sn(s) l Sn2+ (0,004 M) “ H* (0.020 M)
(Give: B2, o)y 4v)l H; (g) (1 bar) | P(s)
(ii) Give reasons,

(a) On the basis of £ °values, O, gas should be
liberated at anode, byt j¢ is Cl, gas which is
liberated in the electrolysis of aqueous NaCl.

(b) Conductivity of
dilution,

CBSE 2019



a[é E%en for the given redox reaction is 2.71 v f20. (i) Define the following terms.

Mg(s) + Cu 2+ (0.001 M) Mg?* (0.01 M)+ Cu(s) (a) Molar conductivity (A ,, )
lculate E._.. fi . e (b) Secondary batteries
Calculate %cq for the reaction, write the direction of Fuel cell
ﬂow‘ of current when an external opposite potential (c) Fucl e
applied is (ii) State the following laws.
i) less than 2. ii) gr a) Faraday’s first law of electrolysis.
(i) lessthan 2.71V (i) greater than 2.71 V (a) Faraday’s first law of electroly
Ql 1. (i) A steady current of 2 amperes was passed through (b) Kohlrausch's lay oLindepsitdens Fig
two electrolytic cells X and ¥ connected in series migration of ions. Delhi 2015C
containing electrolytes FeSO, and ZnSO, until (i) Predict the products of electrolysis in each of the
% R} 4 2 o
2.8 g of Fe deposited at the cathode of cell X. following. »
How long did the current flow? Calculate (a) An aqueous solution of AgNO; with platinum
the mass of Zn deposited at the cathode of electrodes.
cell Y. (b) An aqueous solution of H,SO, with platinum

(ii)

3. ®

(i)
818. o)

(ii)

electrodes.

(ii) Estimate the minimum potential difference
needed to reduce Al,0; at 500°C.

(Molar mass : Fe =56 g mol
Zn=653 gmol ', 1F =96500 C mol )

In the plot of molar . i
.o The Gibbs energy change for the decomposition

conductivity (A, ) vs e

square root of 2 4 .

concentration (C'/?), T 3 AlL,O3;—> 3 Al+0, is — 960 kJ.

gcgtl:;)i:,izgfcurt:,ves i . (F =96500 C mol ™) pelni 2014¢

or two :

electrolytes 4 and B. cr B Qn (i) Define the following terms.

Answer the following (a) Limiting molar conductivity (b) Fuel cell

(a) Predict the nature of electrolytes 4 and B. (ii) Resistance of a conductivity cell filled with

25 5 :

(b) What happens on extrapolation of A ,, to 0.1 mol L™ KCl solution is 100 Q. If the
concentration approaching zero for resistance of the same cell when filled with
electrolytes 4 and B? Delhi 2019 0.02 mol L™ KCl solution is 520 Q, calculate the

. conductivity and molar conductivity of
B e eachion 0.02 mol L™" KCl solution.
2AgCl(s)+ H, (g) (1 atm)—>
2Ag(s)+ 2H* (0.1 M)+ 2C1" (0.1 M), The conductivity of 0.1 mol L' KCI solution is

AG°=-43600] at 25° C 1291072 Q" em™ Delhi 2014

Calculate the emf of the cell. [log 107" =—n] 9 [ IDEA

Define fuel cell and write its two advantigszs;. S To solve such type of question,

(i) First calculate the cell constant using relation, //A

Calculate £, for the following reaction at 298 K: (cell constant) = R xx then, find conductivity ()
- 3+ (ii) Then, find molar conductivity of solution by the
2Al(s) +3Cu 2+ (0.01 M) —2A1° (0.01 M) forhola As k x1000
+3Cu(s) Molarity

Given, E o =1.98V

Using the E° values of 4 and B, predict which is 0238 (i) State Faraday_’s first law of electrolysis. Hf)w
better for coating the surface of iron Z much charge in terms of Faraday’s is required for

: 2
(S, 245, =—0.44V]to prevent corrosion and why? the reduction of 1 mole of Cu“* to Cu.
G_(F 1xe) > 3Ty (i) Calculate emf of the followi -g cell at 298 K.
ven : = ’

(4%14) Mg(s) [Mg?* (0.1 M)[|Cu**(0.01) | Cu(s)

e All India 2016 Given, E% =+2.71 V, IF =96500 C mol ™
All India 2014
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CHAPTER 4 BIOMOLECULES




BIOLOGY

CHAPTER 1: SEXUAL REPRODUCTION IN FLOWERING PLANTS

Very Short Answer Type Questions

Q1. What is meant by emasculation?
Q2, Whyis apple called a false fruit? Which part of the

flower forms the fruit. end B
Q3. Name the structures formed at the
microsporogenesis and megasporogeneSlS

Short Answer Type Questions

QY Mention two strategies evolved 1O prevent
_self-pollination in flowers.
Q<" Why do you think zygote is dormant for sometime
in a fertilised ovule?

Long Answer Type Questions

Q¢ . (i) With the help of labelled diagram only, show
the different stages of embryo development in

a dicot plant.
(i) Endosperm development precedes embryo

development. Justify.
Q7. With a neat diagram, explain the 7-celled,
8-nucleate nature of female gametophyte.







Qﬁ_ (a) Explain the process of double fertilisation in

angiosperms.
. (b) Why does the development of endosperm precedes
that of embryo?
(c) List the parts of a typical dicot embryo.
[Delhi Set-3, 2019]

q 18 gl)ltAi tCapsicum flower has 240 ovules in its ovary.
, it produces a fruit with only 180 viable seeds.

Explain giving a
for such a resflt. reason that could be responsible

(b) D.e;clnbe the development of an endosperm in a
viable seed. Why does endosperm development
pr.ecede embryo development? i

(c) le.e an example of an angiosperm seed that has a
Frensperm. Name the part the perisperm develops

om. [Delhi Set-1, 2017]

qu (a) Describe any two devices in a flowering plant

which prevent both autogamy and geitonogamy.
o double fertilisation after

f the synergids in an

(b) Explain the events upt
the pollen tube enters one O

ovule of an angiosperm.

(Outside Delhi, 2018)

§20 (a) Explain the post-pollination events leading to
seed production in angiosperms &

(b)List the different
es of AR o
upon the source of ptg'llljen (g’ral;:l’lllnatlon dependn‘: 1

@ [ [Delhi Set-1, 2016]



CHAPTER 2 HUMAN REPRODUCTION

' Very Short Answer Type Questions

Q { How the entry of only one sperm and not many, it
ensured during fertilisation?
Q A Name the thin clear coat around the mammallan

egg.
Q. 3 The basal parts of the endometrium remain intag ;

during menstruation. Give reason.

Short Answer Type Questions

Q Y Mention the two functions of the placenta. i
Q ¢~ Write the functions of the following: 1
(i) Corpus luteum
(i) Endometrium

Long Answer Type Questions

- b Where is morula formed in humans? Explain the
process of its development from zygote.

Q. 7 (i) Mention the site where fertilisation of the ovun
occurs in a human female. Explain the process

of fertilisation and mention how polyspermy is
prevented.

(i) Explain the formation of placenta after the
implantation in a human female.

o ey oF

pospwarT T =i

|
|

)



q&Read the two statements below and answer the

questions that follow:
Statement I: Female P has been a surrogate mother once.

Statement II: Female Qis a national-level swimmer.

(a) Is it correct to say that the hymen is DEFINITELY
broken in both females P and Q?

(b) Give a reason to support your answers to (a).

1 & M (CFPQ]

: qc'_The graph given below shows the number of primor-

dial follicles per ovary in women at different ages.
and answer the questions that follow.

Study the graph
f the women at the onset of

(a) Whatis the average age 0

menopause? |
(b) At what age are maximum primordial follicles

present in the ovary according to the given graph?
[[Outside Delhi Set-1, 2023]

810 Men.tion the relationsi'lips between pituitary and
ovarian hormones during a menstrual cycle.
| . I [Outside Delhi 2017, Set-2]
all entlon. the relationship between concentration
of luteln.lzmg hormone and maintenance of
endometrium in the human uterus.
[Delhi Set-1, 2017]

Q12 Polyspermy is an extremel iti
1 n y rare condition in 1
an ovum is fertilised by more than one sperm‘.NhICh

(a) How many chromosom 1 tain
es will in i
sperms fertilised an ovu;? e 43
(b) How is polyspermy prevented in humans?
. & [Delhi Set-1, 202

i3 List the ch.anges occur when the primary ;(-)c;tB’ :
undergoes in the tertiary follicular stage in humane
[OEB]



Q ¥t (a) Highlight one aspect by whic.h meiosis during
oogenesis differs from regular mei1osis.
(b) Name two hormones that are common to spermato-
genesis and oogenesis. .
(c) State the function of hormone identified in
(b) in both human male and Female.
et %% Em Spen
q[g’ Explain the events in a normal woman
during her menstrual cycle on the following
days:
{ Pituitary hormone levels from 8 to 12 days Prim:

e - 342

ﬂl & Name the gonadotropins in human. Explain
their role in human male and female, Secor
respectively.

’ . Al1] ] [Delhi Set-2, 2020)
Q, '+ (a) Explain the fol owing phases in the Spern
menstrual cycle of a human female:

(i) Menstrual phase
(ii) Follicular phase
(iii) Luteal phase

Spem

’ 13' Where and how in the testes process 0Ot
a spermatogenesis occur in humans?

arts.
. ¢ Draw diagram of human sperm and label four p
Q'}' it [a(11 W [Delhi Set-1, 2020]

(a) Differentiate between spermatogenesis and

l oogenesis on the basis of
(i) Time of initiation of the process.

Site of completion of the process.

(ii)

(iii) Nature of meiotic division undergone by gamete
mother cells.

(b) Name the hormones and state their role involved in

controlling spermatogenesis in humans.

@:.] X3 [Delhi Set-3, 2019]




CHAPTER 3: REPRODUCTIVE HEALTH

Very Short Answer Type Questions

Ql.
Qz

Q3.

Why do some women use Saheli pills?
Dur)i’ng which  duration the . eTergency
contraceptives are proved to be effective’
Give the name of the STD, which can be transmitted
through contaminated blood.

Short Answer Type Questions

0y
Qs”

Amniocentesis for sex-determination is banned in
our country. Is this ban necessary? Comment.

What is artificial insemination in ART? Under what
conditions is the person medically advised to go

for it?

Long Answer Type Questions

0¢.
Q7.

Describe the technique by which genetic disorder
in a developing foetus can be detected.

What are the traditional methods of contraception,
which have been in use since ancient times?

Name two hormones that are constituents of
contraceptive pills. Why do they have high and
effective contraceptive value? Name a commonly
prescribed non-steroidal oral pill.

[Outside Delhi Set-3, 2016]

‘09 List any two types of IUDs that are available for
human females and state their mode of action.

IX] [Outside Delhi Comptt. Set-1, 2, 2017]







QKA large number of married couples across the world

. are childless. It is shocking to know that in India

the female partner is often blamed for the couple
being childless.

~ @Why in your opinion the female partner is often
/blamed for such situations in India? Mention
any two values that you as a biology student can
promote to check this social evil.

-'_r_?*State any two reasons responsible for the cause of
:'-.f- ~ infertility.

?#Suggest a technique that can help the couple to have
- ' achild where the problem is with the male partner.
= [APQ 2023-24]

i

—y—— *vw" Bhd e

-

=

T e

' Q)BAfter a brief medical examination a healthy couple
came to know that both of them are unable to
produce functional gametes and should look for
an ‘ART’ (Assisted Reproductive Technique). Name
the 'ART’ and the procedure involved that you can
suggest to them to help them bear a child.

[Delhi Set-1, 2015]

ooy and Child Healthcare (RCH)

-tive : -
R(.Prndudw' are currently in operation. One of
m .
rogra

-nrutasks of these programmes .is to create
the méll(’gg amongst people about the wide range of
awareness

reproduction r

elated aspects. As this is important
4 essential for building a reproductively healthy
an
society.

idi cation in schools is one of the

p :v?:sv:gl;%estet);lizdglt)al”. Give four points in support
of gtour opinion regarding this .sta_t_.ement.

b List any two ‘indicators’ that indicate a reproduc-

tively healthy society. @ [SQP 2023 - 24]



CHAPTER 4 HUMAN HEALTH AND DISEASES




80 (a) Differentiate between active and passive
immunity.

(b) .Comment on the role of vaccination and
immunisation in keeping human population

healthy. [Outside Delhi Set-1, 2019]

§9(1) How does a Human Immunodeficien Vir
(HIV) replicate in a host ? iy S

(u) H‘ow does an HIV-infected patient lose immunity?
(iii) List any two symptoms of this disease.

[SOP 2023241

{0An HIV patient normally doesn't die of 'AIDS)
but death is caused due to many other infections'
Do you agree with the statement? Give explanatory
reasons in support of your answer [SQP 2022

‘Bl (a) Differentiate between the roles of B-lympho-

(b)

cytes and T-lymphocytes in generating immune
responses.
Explain the mechanism of action of T cells to

antigens. [SQP 2023-24)

(b)

»QIL (a) Briefly describe the types of cancer associated

genes. : b
i combined immunodeficiency
:-:ng%g;\ josiny [SQP 2023-24]

B

L - Al |

Aa.lX (a) If a pPatient is advised anti-retroviral drug, name

(b)
(<)
(d)

the possible infection he/ she is likely to be suffering
from. Name the causative organism.
How do vaccines prevent subsequent microbial
infection by the same pathogen?
How does a cancerous cell differ from a normal
cell?
Many microbial pathogens enter the gut of humans
along with food. Name the physiological barrier
that protects the body from such pathogens.

I+ 3 [SOP 2023-24]



14 (a)Innate immunity is a non-specific type ot detertse
and consists of four types of barriers. Categorise

these barriers and give one example for each.

(b) Differentiate between benign and malignant
tumours? Which one is lethal and why?
[APQ 2023-24]

16~ (a) Explain the life cycle of Plasmodium starting
from its entry into the body of female Arnopheles till
the completion of its life cycle in humans.
(b) Explain the cause of periodic recurrence of chill and
high fever during malarial attack in humans.
813 [SQP 2023-24]

- ’ EESSRE MOveRR=cA M i) R AR B oo

@& Enumerate four m
ost common warning signs of
drug and alcohol abuse amongst the youtgh e
> I [SQP 2022-23]
QT at’a.te the mode of action of coc En[hgman body
rite the scientific name of the source plant it is
obtained from. M4 ISOP 2022-23]
| [ lant. “These
| Name two drugs obtained from poppy P -
5«|3 drugs are medically useful but are often abused”.

i ] sustify by giving
2king the mentioned examples ]ushfy y
}easm%s. e [Outside Delhi Set-2, 2016]
e e e we. P EEN .
§19 Why is there a fear amongst the guardians that their

adolescent wards may get trapped in drug/alcohol
abuse? [Outside Dehli Set-1, 2, 3, 2017]

QZ‘D (i) Wirite the scientific name of the plant from where
natural cannabinoids are obtained.
(ii) Mention the parts of the plant that are used for
extracting the drug.
(iii) How does the drug affect human body?
[SOP 2022-23]



CHAPTER 5 MICROBES IN HUMAN WELFARE

Very Short Answer Type Questions

Q 1. Give the significance of biofertilisers.
Q 2 What are Nucleopolyhedroviruses being used for
now-a-days?
Q.3. Name the pests that ladybird, ‘beetle and
dragonflies help to get rid of.
Short Answer Type Questions

Q 1 List the events that reduce the Biological Oxygen
Demand (BOD) of a primary effluent during sewage

treatment.
Q <~ Why is Rhizobium categorised as a ‘symbiotic

bacterium’? How does it act as a biofertiliser?

Long Answer Type Questions

Q. £. What are antibiotics? Name the classes of
organisms that produce antibiotics.

Q #- Explain how are microbes important for humans.
®

R R

88 Describe't_he contributions of Alexander kleming,

Ernst Chain and Howard Florey in the field of
microbiology. [Outside Delhi Set-2, 2020]
~gq List the event that reduces biological oxygen

demand (BOD) of a primary effluent during sewage
a treatment. [Delhi Set-2, 2016]

8.10 Describe the process of waste-water treatment
under the following heads:

(i) Primary treatment.
(ii) Secondary treatment. (%) [SQP 2023-24]



&l (a) Far.mers are often suggested to use the follows
organisms in their crop land to improve soil ferﬁwllirtig

(i) Rhizobium (ii) Anabaena-Explain.

(b) Qrganic farmer use Trichoderma and baculovirys
biological control agents. Explain. =

12

(a)
(b)

g3

| 4.
(a)
(i1)

15

Your advice is sought to improve the nitrogen
content of the soil to be used for cultivation of a

non-leguminous terrestrial crop.
Recommend two microbes that can enrich the soil

with nitrogen.

Why do leguminous crops not require such

enrichment of the soil? [Delhi Set-1, 2018]
— —— —————— —— = \

v — | —— T . i
P =~ p——
—— -

What is the. pathogenic property of baculovirus,
used as a biological agents? Name the genus of

these organisms.
[Outside Delhi Comptt. Set-1, 3, 2017]

a ilelp the plants to grow better?
OR
(i) Give an example of a genus of fungi that forms

mycorrhizial association with plants.
How does the plant derive benefits from this
[Delhi Set-1, 2023]

ey gy

N
dime a genus of baculovirus Why
. dare

How do mycorrhiz

association?

considered good biocontro] agents? =
[Outside Delhj Set-1 2016]

= OR
me the genus to which baculoviruses be]

ic? . S
pre:)sgcrralll;lemtlgselr role in integrated pest management
: [Delhi Set-1, 2014]







MATHEMATICS

Practice of all the questions from R.D Sharma book of Mathematics.
1) Inverse Trigonometric functions

Page no.3.6, Ex-3.1, Q2 (i, ii), Q3 (i, ii, iv, v), Q6

Page no-3.14, Ex-3.4, Q1 (iii, iv), Q2(i, ii)

Page no. 3.32, Ex-3.7, Q6 (vii, viii), Q7 (v, vi, viii, ix)

2) Matrices

Page no.4.37, Ex-4.3, Q5 (i, i), Q6, Q9, Q17 (i, ii)

Page no .4.57, Ex-4.5, Q5, Q7, Q8

3) Determinants

Page no.

5.32, Ex-5.2, Q2(x, xi, xii), Q11, Q16

Page no.6.24, Ex-6.1, Q35 to Q41

4) Continuity

Page no.8.31, Ex-8.2, Q4 (vi, viii), Q5, Q8, Q9

5) Differentiation

Page no.14.34, Ex-10.2, Q25, Q48, Q59, Q61, Q76, Q77
Page n0.10.57, Ex-10.3, Q13, Q16, Q20, Q39 to Q45
Page no.10.80, Ex-10.5, Q30, Q33, Q34, Q36, Q41, Q42
Page no.10.93, Ex-10.7, Q8, Q12, Q14, Q19, Q22

6) Higher Order Derivative

Page no.11.14, Ex-11.1, Q10, Q17, Q20, Q23, Q26, Q27
7) Derivative as a rate measure

Page n0.12.18, Ex-12.2, Q9, Q15, Q17, Q26, Q28



8) Increasing and decreasing function
Page no.13.27, Ex-13.2, Q1 (vii, ix, xvi, xix), Q15
9) Maxima and Minima

Page no. 14.31, Ex-14.4, Q1 (iii, iv), Q2, Q5

MOST IMPORTANT:

e DO A GOOD SOCIAL WORK PER WEEK, CLICK PICTURES,
PASTE AND WRITE IT IN THE SCRAPBOOK.

e PLANT A SAPLING ON “WORLD ENVIRONMENT DAY” (§
JUNE), CLICK APICTURE WITH IT AND WRITE A
PARAGRAPH ON WORLD ENVIRONMENT DAY. PASTE IT IN
THE SCRAPBOOK.

e 90% OF THE HOMEWORK IS OFFLINE. PLEASE DON’T USE
MOBILE PHONES.

For any query, please connect Mr. Devansh Kohli between
11:00 am to 12:00 noon on 7906097284.







